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SECTION - I
Ql) a) Explain how to recognize the tokens.

b) Consider the following grammar

OR,:1
Explain inpfilbiffering in Lexical analysis. Give an exampl

t41

S+CC
C --+ cC

t-l .',:3''
Findthllanonical collection ofsets of LR(l.1items and conqi(ucr the action' go{t'.!ble. 

t6J

Q2) a) List and explain various compiler construction tools. t4I
b) Write the code for recursive descent parser for the following grammar.

S-+AbS

A-+alda t6l
OR

b) What are conflicts in Shift-Reduce parser? Explain with the help of an
example. t6l

Q3) What is Left recursion? Explain elimination ofleft recursion with example. [51

exactllt\.vo l's for Lhe gi! en patrem: (01+2 l- 02)*( l+ ^) ( I



SECTION . U

Q4) a) Give ", ,
'1. '-, '

i) , gldtax Tree
..:t-: '1

..;jiJ,; DAG for rhe expression a- a*(b-c) + (b-c)*d . -,
b) What is syntax directed definition? Explain the construction of slrrtax

tree for Expressions using syttax directed definitions with the helpofanexample. 
t6l

OR

b) Write an SDD to show how backpathching can be used to genemte tkee
address code for Boolean expressions and flow-of_control statements

.:.'
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Qs) a)

and explain.

are characteristics of Peephole Optimization.

Explain Loops in flow graphs.

Using code generation algorithm, generate the target code for the
expressiong = (a-b) + (a-c) + (a-c). AIso show the values ofResister
desripSoi.giid address descriptor as code generation progr"q$:: 111..':r,, -.i 1

, j .:-' oR . :':"
,'.:1'' ..ri.:

,:llxflain optimization ofbasic blocks. ;.;;.-j' t4l

What is peephole optimization? Describe different tuansformations that

t6l

l6l

'a)

b)

Q6) With reference to code generation, what is basic block? Describe an atgorithm
to pa(ition, three address sequences iato basic blocks_ t5l

OR

tsI
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